MatematTuka —
3TO




250+30=280 8x7=56
42: 6 =7 38-9 =29
7X2=14 320: 4=80
900-1=899 7+7=14



MatemaTuka —3T1o
He




(4+2)+3
42X 3
4x(2x3)
4+(2+3)
3+42
3x42
(4x%2)x3
42+3



ViaTeMaTUukKa —
3To
He CTpaLLHO,




(4+2)x3=4Xx3+2X%3



(a+8)x c=ax c+6X ¢

pacnpegenutenbHoe CBOMCTBO YMHOXeHUA OTHOCUTENbHO
CNnoXeHusA

[1paBuno:

4UmobbL yMHOKUMD CYyMMY HA
YUCAO, Moz(,uo ymuo;l(,umb Ha
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MaTemMmaTuka —
3TO

He CTpaLlUHo, a
CTpaLLHO




MaTtemaTuka —
3TO

He CTpallHo, a
CTpaLlUHO
MHTEepPEeCHO!




MbI ceroaHs
NMOBTOPWUIN...

MbI cerogHsa y3Hanm...

MbI ceroaHs
Hay4YnInucChb...



